
 

 

1. Write the expanded form of 63 

 Answer: __________ 

2. What is the number? 

 Expanded form: 40 + 6 

 a) 64   b) 46   c) 60 

3. Match the numbers with their expanded forms: 

 a) 81    i. 90 + 4 

 b) 56    ii. 80 + 1 

 c) 94    iii. 50 + 6 

4. Look at the number; 

 Tens = 7  

 Ones = 2  

 Expanded form = __________ 

5. Fill in the blanks: 

 38 = ___ + ___ 

 Answer: __________ 

6. What number is this? 

 Expanded: 60 + 5 

 Answer: __________ 

7. Tick (✔) the correct expanded form of 47 

 a) 40 + 7  b) 4 + 70  c) 70 + 4 

8. Color the box with the correct expanded form: Number: 38 

 a) 30 + 8  b) 3 + 80   c) 80 + 3 
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9. Choose the correct number: 

 Expanded form: 20 + 9 

 a) 92   b) 29   c) 22  

10. Write the number and its expanded form: 

 Tens beads:              

 Ones beads:           

 Number = _________ 

 Expanded form = __________ 

11. True or False: 

 a) 75 = 70 + 5  

 b) 64 = 60 + 3  

13. Draw beads to show this number in expanded form: 

  53 = 50 + 3 

     = Tens     = Ones 

 Tens: ___  Ones: ___ 

14. What is the expanded form of the biggest 2-digit number? 

 Answer: __________ 

15. Join the dots to match: 

 a) 27 →   ………+ 7   i) ….10 

 b) 90 →  90 + ………   ii) ….20 

 c) 19 →   ……..+ 9   iii) …..0 


